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T—HRE 134 I
HED char| 1 -128~127
& 3 unsigned char| 1 || 0~255
shortint| 2 -32768 ~ 32767
#& | unsigned short int| 2 0~65535
B int| 4 || -2147483648~2147483647
unsigned int| 4 0 ~ 4294967295
long int| 4 || -2147483648~2147483647
__________ unsigned long int| 4 0 ~ 4294967295
float| 4 B N6HT
double| 8 AXN15H7
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11111111 = 255
11111110 =254

10000001 = 128
01111111 =127

00000100 =4
00000011 =3
00000010 =2
00000001 =1
00000000=0
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01111111 =127

00000010 =2

00000001 =1
00000000=0
11111111 =-1
11111110 =-2
11111101 =-3
11111100 =-4

10000000 = -128



" A
ﬁﬁ]’/ﬁﬁ%

m MAERE L, RYDSESE

AT
A=
%ﬁ -
fRE -/
FlIR %

= 100%30 - 10
m /%3 > 1



" S
EHEDIESEIRAL

m SEEOELIEARIZEELRELL
FEITTHET ()

ya\
E

= 1B,

TH.
Vﬁ\ g

BRI AN

ZVE.RY: %1, %

=8+, -

A

. 1+2*3-4
- 1+6-4
> 7-4

2> 3

175X EM S

snd




" A
ADAI, TOVANEETF
B A OYARNEBEEF

ZHDEZIMETS
aCab {51 - a++: £1=lF ++a;

a=a+ 1,3
B T OYARNEBEEF
ZHDEZLFHET S
a0 b5l ; a--F1-1% --a:
a=a-1;&F M



" A
AD)AUS, TOVAKNEREF

mat+; & ++a; DEWNE?
W OIET HMHNED
b=a++;
b=a; a++;
b=++a;
a++; b=a;




Wy winly b o .
-Ij-{j )l/js 73,,'[)‘ 1 SHERITLTMG
(AVDIVAVNEREF) ez

#include <stdio.h> printf("3: i=%d, L%d¥n", i,j);
It . . j:j+i++;i:4,j:13
'”inmaj',”("o' N OHNtf("4: i=%d, j=%d¥n", i)

o j=j+++; =5, ]=18
i=1; _ _ rintf("5: i=%d, j=%d¥n", i,j);
j=10; ['=1,)=10 P 0
mrjtf("li ii=i/0(% IJ=°:/0(1>6n Wi return(0): \

rintf("2: i=%d, |=%d¥n", i,j); | o _
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#include <stdio.h>

Int main(void){
Intil, i2;
float f1, f2;

11 =10;
12 = 3;
f1 = 10:;
f2 = 3;

printf("i1/i2=%d¥n", 11/i2);
printf("f1/f2=%f¥n", f1/f2);

return(0);
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Int i1, 12;
v 11 =10;
e 12 = 3;
printf("11/12=%d¥n", 11/12);
tH 77 11/12=3
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float fL. 12

.y f1=10;

JmA =3 float / float
OrNt("FL/f2=9%F¥n", F1/2):

i 7] f1/f2=3.333333 | «—/]V %]
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#include <stdio.h>
Int main(void){
Intil, 12;
11 =10;
12 =3;

printf("i1/i2=%d¥n", i1/i2); float / float
printf("(float)il/(float)i2=%f¥n", (float)il/(float)i2);

return(0);
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float f:

1= 10;

f = (float);
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